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!!ucsﬁon 1 . L : g e RSN ES e, )
a) Find the values df p so that the quadratic equation (4 P+ @E+x+! = 0 has equal roots. [3]
b) Inan AP.,ifa=1,a,=20and S, = 399, then ﬁnd the nurﬁb:f;f terms. 3]

¢) All kings, jacks and diamonds have been removed from a pack of 52 playing cards and the

"~ remaining cards are well-shuffled. A card is driwh from the remaining cards. Find the probability
that the card drawnis: ' ERLIR -~ o - e e

(Da red queen __(ii)a black card__(iii)a face card’ poOT [4]
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b) Find the equation of the line Pa;ﬂllélto lhe iinc__:bL-_-__Sy%_%; g_,g‘d?sznssing ih_rough the point which
divides the line segment joining the points (-3,3) and (2,-7) in the ratio 2:3. " 3]

_a13—2.|—3b
c) If [2 0]:1 4J_|:c 1]-51, find the values of a, band ¢, wherclisﬁaZxSZu:ﬁtmntrix. [4)

Question 3 : _ .
a) Find the geometric progression whose 5" term is 48 and 8" term is 384. | Bl -

b) Determine whether the given quadratic equation has real root(s). If so, find the root(s).

1 =

question. A point P is reflccted to P* in the y-axis. The coordinates of its

c) Use gmaph paper for this
[

jmage are (-2, 3).
(i)Find the coordinates of P. :
(ii)Find the coordinates o the image P of P under reflection in the X-aXiSe..... . .

) (iii)Find the coordinates of the image Q" of the point Q{-1, 2) under reflection in the
line PP"’. - S .

(iv)Assign the special pame to the figure PP’ Q'Q,_ Hénqc' find its rea.
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atP PTisa
AP = 16cm, AB = 12cm a __ of the circle. -~
.:\ s i e ) [3] »

s BOO per
31
(1]
Suction B,
(Attempt any four quesuons)
rgimﬁo'ns i s o _
: a) II‘A [; ‘:} Iim.lA —3A- b’I wherc k ls Ih;g_zpltmahix, rd;r 2. v ‘ [3]
b) In the figure. given below, chords AR and GD of a/cn-éle'm pmdnced, to meet at O. Prove that
tnanglcs BOD and COA are similar. [FCD = zcm GD scni&nd BO= =3cm, find
N (l)lmgth of AB : . o 13
c) Given : A = {x:3<2x-1<9, xeR} and B = { x: 11 €3x+2$23 xeR » Where R is the set of
real numbers, ‘ o " [4)
(i)Represent’ A and B on the number lines. '
(i)On the number line also mark AN B.
e 3) Fmdthcmodc of the followmg distribution by drawing a histogram: =~ - S 1Bl
Helshtﬁr o) 30-40 40 50 | s0-60 | 60-70 | 70-80 | 8090 |
No.of plants - |4 —3 g | 11| 6 | 2
31
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c) nght ofa sohd cylmdcr 15 10cm and diameter 8 cm, Two equal conical holes have been made
from its both ends. If the diameter of the hole is 6cm and hetght 4cm, find the surface area of the

rcmammgsohd : . S (4]
Question7 i ‘

a) A model ofa sl'up is made toascale of 1:250. Find ~ = -~ . .. i (3]
(the length of the ship in km, if the length of its model is 1.2m. S
(ii)the area of the deck of the ship in sq. km, if the area of the deck of its modcl is 1.6m".
(m)thc volume of its model in cubic meter, when the volume of the ship is 1 cubic km.

b) A sohd sphere of radius 3cm is melted and recast into small spherical balls, each of diameter
0.6cm. Find the number nf balls thus obtained. 7 [3]

) A man bought certain number of chairs for Rs 10,000. He kepl one for his own use and sold the
rest at the rate Rs 50 more than he gave for one chair, thus ke madc a proﬁt of Rs 450 How many
chaxrs did he buy? . peey TR oL - - g : (4]

Question 8

proceeds in Rs 10 shares, payngZ" dxwdggd %,
income is Rs 120, find the numbcrrofshnrcs 507d by’ T4 g
: - <}

(31
(4

" ¢) Find the mcan ofthe f'ollowmg data by‘s[cp d

\4{

Marks Obtamcd !e:s than-lO lcss:tha’n‘ﬂo <4 le3 ‘ less than SO
No. of students. 7 = j 5 , 42 50
1 ) E
[ 4
Quesfion 9 :
a) InaG.P, the ratio of the sum of the first three terms to that of first six terms is 125 : 152. Find the
common ratio of the G.P. . - 131

b) Inthe figure given below, PQ is the diameter of a circle with center O, If ZPOR = 65°,

LSPR=40°, £LPOM =50°; find A_QPR, ZPRS and £ QPM.. _ [3]
- ] _
AMBIKA BOOK DEPOT
40'/ ise Shop No. 1, Rangoli, Vasant Utsay,

f’ o sov)° Thakur Village, Kandivali (E),
, Mumbai- 400 111,
M Mob. 9321262050,

- 2-,‘3 + 3x? — ax + b be.a.pnlynomial such that when it is divided by x — 1 and x'+1, the
) Ifp (xi ders are 5 and 19 respectively. Determinc the remainder when p(x) is divided by x - 2. [d]
remal =

|
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the following tablc

3]

. sin? A—sin’ B
cos Acos BZ

[3]

m " im at an elevation of
h 'ot'thc same bird -

|4]

: e (61
Helght(in cm, , 161-170 171-180 1
No. ofpupxl L 14 8
Draw an ogwc for thc above‘
(i) the mcdlan =
('11)
b) Construct a triangle ABC in v\hu,h AC - .:un, BC 7c 11 mid AB - Gem. (4]

(1)Mark D, the midpoint o[ AB.
(u)Constmot a'circle which touches BC at C'and passes»through D
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